Maﬁ)v. 2010 B Tutoriod 4 2020/ /o

Ou,f [.’)’L&

Exercise JCOY ta/eing limit





























i ' y
Eicise : Whe ther He Jféé{owmﬂ limit  ex$t or not ;
- A1) (-1 ‘ .
CD 5:‘ ;l' II = (AW; (i) ) = l/\M l’xﬂ) - =z & bdglc PToFeYTles
> | xX2) K= xX>) & Lontious fanct
degres 3
A preserve  lywis
[im P P24 ]
— (3:9) >lo.9) e e o € using  polavr  (oordirate
A A=Y ls®
ree2 o
deg 1 e B
. gl ,
© b 2 ¢ L Hepitul Bule kan  _OSX
- x>0 X A0 ]
g r
> 2
I ' 0(}(1 —x
S { o PN
- ,'I\
© oterwise NES
X
%
7
@
Lim , -
j‘ v
(:(o))—é(o,o)-F ‘/) not  exist
-85
Qb-‘ Limit hot exiet 7 M{k_je
AN

2 -patk  test
\







































































































































. Limi
_l‘eclm.‘qucs JCO” Evaluating it

| 05 kmit & wmfwh‘vxg it

) By ef (-8 argument vVeso, 38 - )
. : it
= 2 B basic P"‘Ofeme-s o:f k re f ’9") is tontinuous at ==
T . x, (Y ete (
f/’kl. {""M = l“ = ®
(In general , Loptirumous fur\c-h‘ah preserve Lnatts., " x> f(:() :F ( ,X_;‘;’x) ‘FDQ
23y By Squeeze Thm L X — Leve
X)) T ey
»o4) B} ).'HOPHQ] Rule
¥ 5) ) '('okl‘ng )f;“a+ in polar  woord . (1 g) x = ¥ oSO
leul k 2 7=7sing:
r a el
fc ¢ wm—mg KXy)2loe0) on IR 7T

Fooof bt )
)) @) dﬂ’f ( 99>o, y 8>0 , - . - - )

>) Bj /F\‘V\dn‘v\g difFerent FM{S B get une?ua/ Linaits, y=)

—_
















































































































































D&Ffﬂ.ﬂ. -FlX.y) = é o ))t o< >l4 X . Lo ‘F(Y\ y)

(XY)2lo, o
o, obﬁrwﬁse . pog y 40—2—
X

R £5.2 W) where

N _3 N ~ : xR}
)R =to) W) X= L) ) &= lo.®)

E : Lo 149 oloes not  exist . (B €-§ orgumnt ) 2 j
X y)>(0.0)

.0
lff—jﬂD 1537‘»:' f(x\y) Coexst by 3-f argument denote bt 5/ L.

noy

vV s>° 3 §s0 . St ¥ e<lloy)- @ < 8§, Thea [fxy)-L] <5 L =

lo, 100 . (evowop

{| ¥

) \aa: (O\l) ) O L ,—/[\(X-\/J’ O] < g

fr o s3>0 . teke $= E 20,

L Cri, s D= B
Con<ioler any (X)) €IR St E< ihesy) - XN <8 *#
e
want Show Yy =2 x> (= ‘f‘x‘y) =v )
o 1l (X-.y)~a‘7f) \/ L 2

we have o - (m)z< 5 ® N [fsd) =0 = lo-o| =0 <¢

2
Then xls'k"a-(y-t)z <& )
EYNES S % = bev o fly) =0
Rearranging (¥) g o> =y -4 ) *y)>3
————— 2
o 75 T41-57y = 3 wWrE) =
> ) = «*















































































































































































































































































Assume  lina y)  exists & danote M L.
0«9)»5?{) {74
1.2 V e = 'é_‘ > o
v > v
Z §ro St Yy &y) st o< | &y- ) =§ )
E— — A2 A
| o) - LV < €. L
]N&\‘nj l\(\\)); ( H».ig- , ,) e X = H-é.’ :(j:_f
_— 2
- )5 o M) =Bl = £ - §
O <Yzl < €Y = o vt D fxpe
)
ll"LI = lf(x.y)-L.l < = )
)
I for )= Ut §,; L)
(¢
Py oz oe Ly
; 0L iy - &I = —éj < 8 ,S:M.y):‘g
7
y=1 > u-.g)z -3t = Yy >x© ” QD)
lo=L| = fwy- L] <2
1 5
0 for (xy) ==, ) N -

T R B lds

H lowtr edicton

Py
RES a’P 4

< L\,‘VV\ Xt
Remavk W)-ﬁ?{‘ 97 L

3 g0, VJ?O

JHxy) et o< iley)@led

U -L] > 5

does not  exist














































































































































































































